Efficiency vs P,

- 0.2 T T
2 F : : :
L 0.18F |-t Prrereeeeed ARRERERLREEE

2 s
2 0.16F g R R T R R R R
L]_) L
g s
) u
0.12}--
0.1
0.08F-
0.06F

©

o

=
III

I

&

10 . Gedf’

MKEIL_TT1originar
mkFit_TTNEWnoMS-genMatch-CUT2
mkFit_TToriginal-106

mkFit TTNEWMS-genMatch-CUT2

Ratio
P
N

°
¥ o
=
O T T T O I O T e T

0.8!
TP N

Efficiency vs ¢

s 0.1

4

2 0.095

2

) 0.08F-

(S}

£0.07F-

5 L
0.06]
0.05
0.04
0.03]
0.02
0.01

0

X

2 i ] STHH EL i+
1.2HA -1k HF1- = F R - F-FAF R -F 1
& i TTEATAFEHTE T 1
L 1 : dL A :
Ht--- -
T 4
1 : pun
b L4 L

0.lL
TP o



	Contents
	Page 1


